
 

02 تمارين فيزياء  الأولى بكالوريا  شـغـل وقـدرة قـوة 
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	  ����P ���ة  رأسيا نحو الأعلى ، m=50kgكتلته  Sلحمل جسم            �	�
r=5cm  ة�� ������F
��

 

�� ط�ف ا��	ق �OA  ����OA=L=50cm. ه ا� �ة	ا#"F
��

  ��وزن *( )' ا��	ق . OA�&�دي �


&( أ)	م ا� �ى ا0/�ى ( )��6/7 .�
&( ا��45	*	ت .وا����ة وا��g=9,8N.kg-1 .  

Fأ8�4 
�ة ا� �ة  .1
��

  .رأ<�	 ���*> )�� �&�> ):�=&> ��S; �:� ( ا�"�9  

Fأ8�4 
@( ا� �ة  .2
��

   .دورات   10�(�:	 A":# ا����ة  

 .أF:	ء ھ6ه ا��&��> �(S	B <C��د ا�"�8�4h  9 أ .3

��ك ���� ��� ا����ة �(A	 F	��	  �A�AB( ا��	ق  .4&� HI��ك .دورات  10 #�ور ا����ة .و���ا�&

JK� ك ��6ل�� .أ 8�4�Aم )AدوO> ا�&��ك.ا�N@( ا�6ي �H��6 ا� �ة ��( وMI ا�&

 . ، أ8�4 ��رة )AدوO> ا�&��ك ω=1tr.s-1ا����> ا�Aاو�> �����ة F	��> و#�	وي  .5

  

  
  
  
  
  
  
  
 

P 
r 

L 

F
��

 

O 

A 

S 

 

 

 

 

ذ.مـحـمـد صـبـحـي            ثا.طارق          خـنـيـفـرة            www.9alami.com                          الصفحة 1\1 


